

1. Inverse Set

Ex. Let $x \in A$ and f be a function from A to (A, B) . Then

$$A = \bigcup_{x \in A} \{x\} \quad \text{sk. } x \in E_x \subseteq A \quad \text{e.p.}$$

$\bigcup_{x \in A} \{x\}$ is $E_x \subseteq A$, x is a subset of A

Let $x \in \bigcup_{x \in A} \{x\} \iff x \in E_x \iff x \in A$ is a subset of A

Let $f: A \rightarrow B$ be a function. Then $f: x \rightarrow y$ is a subset of $A \times B$

$$f(A) = \{f(x) : x \in A\} \quad \text{is a subset of } B$$

$$f^{-1}(B) = \{x \in A : f(x) \in B\} \quad \text{is a subset of } A$$

$$f^{-1}(A) \subseteq f^{-1}(B) \quad \text{if } A \subseteq B \quad \text{p.e. 1}$$

$$f(A) \subseteq f(B) \quad \text{if } A \subseteq B \quad \text{p.e. 2}$$

Let $x \in A$ and $a \in f^{-1}(A)$ is a subset of A

$$a \in f^{-1}(B) \quad \text{if } x \in B \quad \text{p.e. } A \subseteq B$$

Let $x \in B$ and $f(x) = a$. Then $x \in A$ is a subset of A

$$a \in f(B) \quad \text{p.e.}$$

$$f^{-1}(f^{-1}(B)) = f^{-1}(B) \quad \text{p.e. 1}$$

$$f^{-1}(f(B)) = B \quad \text{p.e. 2}$$

Let $x \in f^{-1}(B)$ and $f(x) \in B$ is a subset of B

$$x \in f^{-1}(B) \iff f(x) \in B \iff f(x) \in f(B)$$

Let $B \subseteq f(B)$ and $x \in f^{-1}(B)$ then $x \in f^{-1}(f(B))$ is a subset of A

$$x \in f^{-1}(f(B))$$

$$\forall x \in f^{-1}(B) \iff \forall x \in A \iff f(x) \in B \iff x \in f^{-1}(f(B)) \quad \text{p.e. 1}$$

$$x \in f^{-1}(B) \iff$$

$$f(x) \in B \iff \forall x \in A \iff f(x) \in f(B) \iff x \in f^{-1}(f(B)) \quad \text{p.e. 2}$$

$$x \in f^{-1}(f(B))$$

$$f(UA) = Uf(A) \quad \text{p.e. 1}$$

$$f(A) = f(A) \quad \text{p.e. 2}$$

$f(A) \subseteq f(UA) \iff f(A) \subseteq f(UA)$ if $A \subseteq UA$ is a subset of A

$$f(x) = x \iff x \in UA \iff x \in f(UA) \quad \text{p.e. 1}$$

$$x \in \cup f(A_i) \Leftrightarrow \exists i: x \in f(A_i) \Leftrightarrow \exists a \in A_i \quad \text{--- (1) i p11}$$

$$f(A_1) \cup f(A_2) = \{3\} \quad Y = \{3\} \quad X = \{1, 2\} \quad \text{--- (2) i p11}$$

$$B = \{3\}, A = \{1\}$$

$$f(\emptyset) = \emptyset \quad A \cap B = \emptyset \quad \text{--- (3) i p11}$$

$$f(A_1 \cap A_2) = \{3\} \Leftrightarrow f(A_1) \cap f(A_2) = \{3\} \quad \text{--- (4) i p11}$$

$\forall y \in Y, \exists x \in X: f(x) = y$ or f is surjective $f: X \rightarrow Y$ $\forall y \in Y$

$$f(A_1) \cap f(A_2) \subseteq f(A_1 \cap A_2) \quad \text{--- (5) i p11}$$

\exists surjective $f: X \rightarrow Y$ $\Rightarrow f(A_1 \cap A_2) = f(A_1) \cap f(A_2)$

$$f(\cap A_i) = \cap f(A_i) \quad \text{--- (6) i p11}$$

\exists surjective $f: X \rightarrow Y$

$$f(\cap A_i) \subseteq \cap f(A_i) \quad \text{--- (7) i p11}$$

$$\forall i, \exists a \in A_i: f(a) = y \Leftrightarrow \forall i: \exists a \in f(A_i) \quad \text{--- (8) i p11}$$

$$\Leftrightarrow \exists a \in A_i \quad \forall i: a \in A_i \quad \text{--- (9) i p11}$$

$$x \in f(\cap A_i) \Leftrightarrow \exists a \in \cap A_i$$

$$\text{--- (10) i p11}$$

$$Q = f(\emptyset) = f(\{x \in X \mid x \in X\}) = \{f(x) \mid x \in X\}$$

$$f(x_1) = f(x_2) \quad \text{--- (11) i p11}$$

$$\text{--- (12) i p11}$$

$$A^c = X \setminus A \quad A \cap X = A \quad \text{--- (13) i p11}$$

$$f(A^c) = (f(A))^c \quad \text{--- (14) i p11}$$

\exists surjective $f: X \rightarrow Y$ $\Rightarrow f(A^c) = (f(A))^c$

$$f(\{1\}) = \{2\} \quad X = \{1, 2\} \quad Y = \{2, 3\} \quad \text{--- (15) i p11}$$

$$f(A^c) = f(\emptyset) = \emptyset \quad A^c = \emptyset \quad A = \{1\} \quad \text{--- (16) i p11}$$

$$(f(A))^c = \{3\} \Leftrightarrow f(A^c) = \{3\} \quad \text{--- (17) i p11}$$

\exists surjective $f: X \rightarrow Y$ $\Rightarrow f(A^c) = (f(A))^c$

$$f(A^c) = f(\{2\}) = \{3\} \quad X = \{1, 2\} \quad Y = \{3\} \quad \text{--- (18) i p11}$$

$$A = \{1, 3\}$$

360

$$f(A^c) = f(\{2\}) = \{3\}, f(A) = \{2\}$$

$$(f(A))^c = \emptyset \leftarrow f(A) = \{2\} \text{ is } \emptyset$$

שני הצדדים הם יריבין פשוט

הצדדים הם $f(x) = x$ - כלומר $a \in A^c \iff x \in f(A^c)$ כי

$$x \in (f(A))^c \iff x \notin f(A) \iff \nexists a \in A \text{ s.t. } f(a) = x$$

$a \in X \cup f(A)$ שים לב $x \in f(A)$ שים לב $x \in (f(A))^c$ כי

$$x \in f(A) \iff a \in A^c \text{ s.t. } (x \in f(A) \wedge \nexists a \in A \text{ s.t. } f(a) = x) \text{ - כלומר}$$

הצדדים הם יריבין

$$(A \cap B)^c = (A^c \cup B^c) \quad 1$$

$$(A \cup B)^c = (A^c \cap B^c) \quad 2$$

הצדדים הם יריבין

$$\emptyset \cap A = \emptyset \text{ s.t. } A_1 \dots A_n \text{ שים לב שכל } \emptyset \text{ שם } \cup A_i = X \text{ כי } 1$$

$$A_1 \cap \emptyset = \emptyset \text{ " " " " " " " " } \cap A_i = \emptyset \text{ כי } 2$$

הצדדים

$$\text{הצדדים הם } \emptyset \iff \cup A_i = \emptyset \iff (A_i)^c = X \iff \cap A_i = \emptyset \text{ כי } 1$$

$$A_1 \cap \dots \cap A_n = \emptyset \iff (A_1^c \cup \dots \cup A_n^c) = X \iff A_1^c \cup \dots \cup A_n^c = X \text{ כי } 2$$

$$\text{הצדדים הם } \emptyset \iff \cap A_i = \emptyset \iff (\cup A_i)^c = \emptyset \iff \cup A_i = X \text{ כי } 1$$

$$A_1 \cup \dots \cup A_n = X \iff (A_1^c \cap \dots \cap A_n^c) = \emptyset \iff A_1^c \cap \dots \cap A_n^c = \emptyset \text{ כי } 2$$

$X = \{0, 1\}$ שים לב X שים לב שים לב שים לב שים לב שים לב

$$\text{שים לב } \left(\frac{1}{2}, 1\right) = A_1 \cup \dots \cup A_n \text{ שם } \cup A_i = X \text{ שם } A_i = \left(\frac{1}{2}, 1\right)$$

הצדדים הם יריבין

$$X \times Y = \{(x, y) : x \in X, y \in Y\} \text{ שים לב}$$

$$X \times Y = \{(1, 1), (1, 2), (2, 1), (2, 2)\} \text{ שים לב } Y = X = \{1, 2\} \text{ שים לב}$$

$$Z = A \times B \text{ - כל } A \subset X, B \subset Y \text{ שים לב } Z \subset X \times Y \text{ שים לב שים לב}$$

$$\text{שם שם } Z \subset \emptyset \text{ , } Z \subset A \text{ שם } Z = \{(1, 1), (2, 2)\} \text{ שים לב שים לב שים לב}$$

$$A \times B \subset Z \text{ שים לב } (1, 2) \in A \times B$$

$$(A \times B)^c = A^c \times B^c \text{ שים לב שים לב שים לב}$$

$D = \{2,3\}$ $A \times B = \{(1,1), (1,2), (2,1), (2,2)\}$

$$(A \times B)^c = \{(1,1), (1,2), (2,1), (2,2)\}^c$$

$$A^c = \{2,3\}, B^c = \{1,3\}$$

$$A^c \times B^c = \{(2,1), (2,3), (3,1), (3,3)\}$$